
Z412281-KIT
INSTALLATION INSTRUCTIONS

1. Remove the hood latch and engine cover. 

2.Remove the fender flares and pull the front 
facia away from the fender on both sides of 
the vehicle. 

3.Remove the bolts retaining the grille to the 
core support under the headlight. 

4. Remove the grille from the vehicle and set 
on a protected work surface. 



Z412281-KIT
INSTALLATION INSTRUCTIONS

4. The lights can only be installed in the 
location as shown. Interference with the active 
grille shutters will occur if installed in any other 
location. 

5. From the back side of the OEM grille, install 
the light brackets and backing plate as shown 
through the slots in the OEM grille. Use (2) 
#10-32 flange nuts. 

6. Install the LED light to the brackets. Use (1) 
spacer on each side of the light between the 
light and the bracket. 

7. Route the wires using the supplied wire 
clamps and zip ties. Drill (2) 1/8” Holes as 
shown. Use the supplied wire clamp, push rivit 
and zip ties to route the wire to the side of the 
grille. DO NOT DRILL THROUGH THE 
FRONT OF THE GRILLE!!. 

Connect the wire harness to the LED lights, Connect the wire harness to the LED lights, 
install the grille back to the vehicle and route 
the wire harness to the battery and switch.  



 

Z412281, Z412281-KIT 

INSTALLATION INSTRUCTIONS 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

NUMBER PART QTY. 

1 LED MOUNTING BRACKET 4 

2 GRILL BRACKET 4 

3 1/4" BLACK WASHER 4 

4 AL SPACER 4 

5 1/4" NYLON LOCK NUT 4 

6 10-32 HEX NUT 4 

TOP VIEW 

FRONT VIEW 


	z412281 INSTRUCTIONS (DRAFT)
	z412281 INSTRUCTIONS (DRAFT) P2
	Z412281 Instructions P3



